Combining Functions by Graphing

Full time postsecondary enrolment in Canada We often see graphs ShOWing two or more
e . functions on the same grid.
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If community college enroliment is defined as the function g
(x), and university enroliment is defined as the function f(x),

then the function (f+g)(x) represents total enroliment.



Given the following graphs:
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Given the graphs of f(x) and (f — g)(x). sketch the graph of g(x).
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Given the graphs of f(x) and g(x) below,
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sketch the graph of y = f(x)g(x)
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